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Gummil&nge 16.0cm

Z

Gummillange 16 .5acm
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Zur eigenen Sicherheit:
Kontrollfenster nachmessen!

Seitenldnge 10 cm
4 inches

GroBe: 122.0/ 128.0
GréoBec: 110.0/ 116.0
GroBe s 98 .0/ 104 .0

( A,03): Raglankleid + Borte.mdl (..\c paulil)




=3

128

122 .0/

( A,04) : Raglankleid + Borte.mdl

(. -\c paualil\)




( A,05): Raglankleid + Borte.mdl (..\c paulil)




O]

Raglankleid 4+ Borte
1= 1x Vorderteil

ere Mitte Bruch/ Fadenlauf
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Gummililange 15.5cm
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Raglankleid + Borte
2= 1x Riickenteil
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Bruch/ Fadenlauf

hintere Mitte
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Raglankledd + Borte
4= 1 Paar Armel
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104 + 116 = 6c¢cm
= T7cm

128 + 140

Raglankleid + Borte
= 1 Schlitz Beleg
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